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No. | $REFAB | AIEFEAH EXOLT (FEEXDAFE) EEMORTEM S X(iﬁ $BR | HEEAR | IFVCA | BRE | sk | T e &%
BrkE ng-TEQ/m|ng-TEQ/g|ng-TEQ/g|pe-TEQ/L
1 BEERIFETKE PINKBERE2—O5F) |ZEHHEERI—2—2 5a 4583keg/nil | BR 1{4R1E
1 R3.6.11 R3412|HERDIFETAKE PIIKERE2—(251F) 5a 5833kg/hilt|  BE 0.00025 1
1 0 S|TRENRIFDI=HORAMNSILEL
1 BEEPNIGRETKE PIKBERESZ—FHEHK) 18|506,001m*/ B 0.00034 10
1 R3.11.30 R3.10.11[FERDJIFRET/KE DK BEEREEL2—(385F) 5a 11667ke/nlE|  BE 0.0015 1
1 0 SMBIRIFDI=HRZ A SILEL
1 R3.6.11 RIANIBERPIIRETKE FIIKBERE 22— (45F) 5a 10417ke/hAE| ¥ 0.0023 0.1
1 0 MBNRIFDT=HRZ A5 ILEEL
2 R3.9.28 R3.7.29| (#k) =R EE =hEtO2—44—1 5b 2,600kg/h| BEX% 0.14 5
2 R3.7.30 0.81 3
2 0.82 3
3 R4.3.31 R3.9.27|JFEE&H%K A= RMEERM (BEXRIF) =T EFFI3—435—1 2 30,000kVA| B 0.39 |BERIFDI=OBMAMBIFEL
3 R3.12.26 0.071 5| EFRMENLELZDITHETRADH
4 R4.3.31 R34.8| BARMMAS BRI EMHImT B3E39S 5b 2,000kg/h | BR 0.045 3
4 R4.2.10 2.8 5|RENRIFDI=OMA NS ILEL
4 R3.4.8 15a |27341m*/8 0.0038 10
5 R3.8.16 R3SI0|RHELRREME F_ITHHNERSR (18R (BN ARBT107F #h1 5a 6,188kg/h| ¥ 0.000038 0.1|R3ZEE 1A H
5 R3.10.15 R3.8.4 0.00014 0.1|R3ZEE2[HEH
5 R4.3.11 R3.11.30 0 0.1|R3EE3[MEH
5 R4.1.16 0.00047 0.1|R3ZEE4[EE
5 R3.8.16 R35.11|HIFEEFIREME FoTIHSHNERKR (25KF) 5a 6,188kg/h | #f 0 0.1|R3EE1EE
5 R3.10.15 R3.8.5 0 0.1|R3FEE2[E H
5 R4.3.11 R3.11.1 0.00000090 0.1|R3ZEE3[EH
5 R4.1.7 0.00000044 0.1|R3ZEE4[AH
5 R3.8.16 R36.10|HIFEERRIEME F_THANIEHE 1.4 3|1-2FFH#&E. RREEIEB
5 R4.3.11 R3.11.11 1.2 3|1-2F A&, RIFE2[EB
5 R3.8.16 R3.5.13 0.00013 3|1-25F#E. RIEE1EB
5 R4.3.11 R3.11.11 0 3|1-25 A&, RIFE2EB
6 R3.11.18 R3.10.12 %gggﬁg;ﬁg%&*%% BENmhfEEe—18—1 5e 90kg/h| EX% 0.0 10(BEKBEANDT=HIENCA . AR ITEL
WA BEHR A4 BEmmENISTE6E2S 5e 86kg/h| # {RLE R
R 3.11.24 R3.9.10|Ld—#% K&t NBIE (INAATRREERME) |/\BHERI30 5a 8,000kg/h| #7 0.18 3
0.00052 3
R3.9.13 0.023 0.1
R3.9.10 15a |20213m*/H 2.2 10




